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BIOLOGY SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question ‘paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencii.

Q.1  Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(i)

(i)

(i)

(iv)

(v)

(vi)

{vii)

(viii)

(x)

(x)

(xi)

(xii)

For Examiner’s use only:

Cell walls are found in these organisms except for:
A Plants B. Animals C. Bacteria D. Fungi
Similar cells organized into groups and performing same function are known as:

A Organelle B, Tissue C. Organ D. Organ system
Study of Insects is called:

A Entomology B. Anatomy C. Pharmacology D. Taxonomy
Who proposed Induced fit model of enzyme?

A Daniel Kosh Land B. Emil Fisher

C. Karl Lohmann D. Calvin

Which of the following is NOT a type of leukocytes?

A Lymphocytes B. Eosinophil C. Monocytes D. Thrombocytes
Through which blood vessel the oxygenated blood leaves the human heart?

A Aorta B. Renal artery

C. Inferior vena cava D. Pulmonary trunk

The chloroplast function is:

A ATP synthesis B. Protein synthesis

C. Photosynthesis D. DNA replication

Viruses are assigned to the Kingdom:;

A Monera B. Protista C. Fungi D. None of these
The average human heart beats time per minute.

A 70 B. 80 C. 95 D. 120

Which of the following stage of cell division is very different for animals and plant cells?

A Metaphase B. Anaphase C. Telophase D. Cytokinensis
The disease of Goiter may be due to:

A Mineral deficiency B. Protein-energy malinutrition

C. Over intake of nutrients D. Starvation

Which of the following is a water soluble vitamin?

A Vitamin A B. Vitamin D C. Vitamin C D. Vitamin K

Total Marks: 12

Marks Obtained: l
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BIOLOGY SSC-|

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
heatly and legibly.

SECTION - B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. {11 x 3 = 33)
0 Define activation energy. How enzymes lower their activation energy?
(i) Define Transpiration. How does it occur in plants and how much amount of water is lost through this
process?

(iii) What is meant by cardiac cycle? Differentiate between Diastole and Systole?
(iv) Explain protein-Energy Malnutrition. What are its side effecis?
v) Define Photosystem. Name main and accessory photosynthetic pigments.
(vi) What are major biological issues of today?
vii) How quantitative observations are more accurate than qualitative observation? Give examples.
(viiiy  Define biodiversity. Upon what factors biodiversity depends?
{ix) Differentiate between Prokaryotic and Eukaryotic cells.
{x) Why weits appear after the mosquito leaves?
(xi) Draw a comparison of aerobic and anaerobic respiration.
{xii) Interpret that ATP is the chief energy currency of all cells.
{xii)  Write down the scientific name of the following organisms.
(a) Mustard plant {b) Frog (c) Human being
(xiv)  What are characteristics of good hypothesis?
(xv) Describe sources and deficiency symptoms of vitamin D.

SECTION — C (Marks 20

Note: Attempt any TWO questions. All questions carry equal marks. {2 x10 = 20)
Q.3 a Explain the structure and function of heart with the help of diagram. {08)
b. What are platelets and what is their average life span? . (02)
Q4 a Why nucleus is called power house (brain) of celi? Explain its structure. (05)
b. What is endoplasmic reticulum? (03)
b. What is the function of mitochondria? (02)
Q5 a. Contrast mitosis and meiosis, emphasizing the events that leads different outcomes? (06)
b. Explain lock and key model and Induced fit model of enzymes action. (02+02)
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